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Atomic Percent Vanadium
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Au-Cu

Atomic Percent Copper
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Weight Percent Silicon
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Percen! Silicon
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| 33Co67si [

100y 33.33C066.67Si Signal A=OBSD WD = 12mm
I | Mag= 500X EHT =2000kv LME-DEMAR-FAENQUIL

Percent Silicon
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V24SAC Signal A= QBSD  Date :10 Oct 2000

Mag = 3 V66S|24 WD= 15mm Time :9:59:01

EHT=20.00kv  DEMAR - FAENQUIL

I V37,551 - AC

| DEMAR - FaENaUIL  V62,5Si37,5 HTs.DOkV
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WD= 17mm  SignalA=QBSD |
EHT=20.00kv DEMAR - FAENQUIL
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V50B - AS CAST I WD= 10mm
DEMAR - FAENQUIL VSOB5O EHT =20.00 kV

= V,B+VB

V52B - AC WD = 13 mm

DEMAR - FAENQUIL V48852 EHT = 15.00 kV
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V67B - AC WD = 13 mm

DEMAR - FAENQUIL V33B67. . EHT = 20.00 kv




